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Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the
following exchanges.

Question 1. Minh and Hoa are talking about Hoa's new hairstyle.
- Minh: "What a terrific hairstyle you have, Hoa."

- Hoa: « ”?
A. You're telling a lie B. I don't like your sayings
C. Thank you for your compliment D. Thank you very much. I'm afraid

Question 2. Lan is talking to Nam about her returning from the U.S.
- Lan: "Can you please pick me up at the airport next Sunday?”
-Nam: “ . What time are you arriving?”
A. You're welcome B. Certainly C. Congratulations D. Same to you

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in
each of the following questions.

Question 3. High-speed connections should be available for anyone who can afford it.

A it B. for C. be D. High-speed
Question 4. Many people believe that the costs of the Internet will outweigh the benefactors.

A. believe B. will outweigh C. the costs D. benefactors
Question 5. He strongly demanded that every employee wore uniform to the meeting.

A. strongly B. wore C.to D. every

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in
the position of stress in each of the following questions.

Question 6.A. achievement B. intention C. wonderful D. experience
Question 7. A. mobile B. modern C. equal D. between

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from
the other three in pronunciation in each of the following questions.

Question 8. A. moved B. coughed C. asked D. stepped
Question 9. A. drought B. fought C. ought D. bought

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following
questions.

Question 10. If we don't take steps to protect the world's wildlife, many species of animals are likely to
completely.

A. die from B. die away C. die down D. die out
Question 11. Jean said she liked dancing but was notinthe __ for it then.

A. frame B. mood C. opinion D. manner
Question 12.  some soft skills training courses, John started to seek for a job in the capital.

A. Having attended B. Having been attended

C. Have been attended D. Have attended
Question 13. John phoned to inform me about the result when I ___ an English lecture.
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A. am having B. have had C. was having D. have
Question 14. Two of the __in this company were sacked last week because they were always going to
work late.

A. employees B. employers C. applications D. applicants
Question 15. The road to our village __ last year.

A. widens B. was widening C. was widened D. has widened
Question 16. John and his friends play soccer __ the schoolyard every afternoon.

A. of B. to C. from D.in
Question 17. The music is believed to __ the composer's joy of life.

A. appeal B. attract C. express D. arouse
Question 18. Some people often __ at least four hours a day watching TV.

A. use B. last C. take D. spend
Question 19. The kids go to school on foot,  ?

A. don't they B. are they C. aren't they D. do they
Question 20. Tom came across a very ___ girl while he was going downtown yesterday.

A. attract B. attractively C. attraction D. attractive
Question 21. Traffic was moving slowly ontheroad __ an accident in the High Street.

A. because B. despite C. although D. because of
Question 22. , the football match had started for 15 minutes.

A. After John gets to the station B. While John is getting to the station

C. Before John had got to the station D. When John got to the station
Question 23. Jenny wore a ___ dress to the farewell party last night.

A. beautiful silk white B. silk beautiful white

C. white silk beautiful D. beautiful white silk
Question 24. The more waste people discharge into the ocean, it becomes.

A. more polluted B. the most polluted C. the more polluted D. most polluted

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions.

Question 25. If any employee knowingly breaks the terms of this contract, he will be dismissed immediately.
A. coincidentally B. deliberately C. accidentally D. instinctively

Question 26. You should pat yourself on the back for having achieved such a high score in the graduation
exam.

A. praise yourself B. check up your back  C. criticize yourself D. wear a backpack

Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to the
underlined word in each of the following questions.

Question 27. After many years of unsuccessfully endeavoring to form his own orchestra, Glenn Miller finally
achieved world fame in 1939 as a big band leader.

A. trying B. offering C. deciding D. requesting

Question 28. When posed with a complicated mathematical equation, some students seek the assistance of a
teacher.

A. spaced B. presented C. solved D. informed

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word or phrase that best fits each of the numbered blanks from 29 to 33.
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All living things require energy to do the work necessary for survival and reproduction. But (29) §
energy? Energy is simply the ability to do work, where work is done when a force moves an object. Let's
consider your own needs for a moment. You need energy to turn on and turn off your computer. You need
energy to (30) of bed in the morning. And, yes, you need energy to reproduce. So where does energy
come from and how do we use it? On Earth, energy ultimately comes from the sun. Plants use the sun's energy
to make sugar. Organisms, in turn, use sugar as a (31) of energy to do work. Plants use energy from
sunlight to make sugar and oxygen from carbon dioxide and water. The process by which carbon dioxide and
water are (32) to sugar and oxygen using sunlight is referred to as photosynthesis. This is an endergonic
reaction, meaning enerov is required by the reaction. Specifically, energy is required to put the carbon dioxide
and the water molecules together to form sugar. Sun (33) the energy needed to drive photosynthesis,
and some of the energy used to make the sugar is stored in the sugar molecule.

Question 29. A. what B. why C. that D. which
Question 30. A. get up B. wake up C. wake out D. get out
Question 31. A. format  B. source C. degree D. scale
Question 32. A. exchanged B. removed C. converted D. purchased
Question 33. A. transfers  B. provides C. consumes D. absorbs

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions from 34 to 38.

Becoming a teacher demands not only knowledge in an academic field but also a personal commitment to
lifelong learning, and enthusiasm for sharing knowledge with other people. To become one of those noble
educators in the USA, one has to satisfy several basic requirements.

First and foremost, it is a prerequisite to have bachelor's degree in education. In the event that a candidate
already has a bachelor's degree in another field, a teacher preparation program is needed. But that is not all.
Almost every school in the USA understands that real classroom teaching experience is a vital part of a
teacher's training. Before taking over a class, a person typically needs to complete a training program, including
working as a supervised student teacher.

People who want to become university teachers need master's degrees. Getting a master's degree is a necessity,
but if it is gained too early, there may be concerns that the candidate lacks the real-world experience to go with
it. One wise solution to the issue is for future post graduates to start working as teachers before going on to
gain their master's degree.

Besides knowledge and experience, certain personal qualities are also required. A teacher should be positive,
prepared, focused, and most importantly, patient. Being a teacher involves being aware of the fact that learning
sometimes means hard work, even for the most motivated students. Also, teaching can at times be tiring and
frustrating, so teaching candidates have to practice being patient with themselves. In short, as in other careers,
teaching requires a combination of qualifications, experience, and personal qualities. Teaching candidates
meeting mandatory requirements are always in demand in the USA.

Question 34. What is the passage mainly about?
A. The advantages and disadvantages of being a teacher.
B. The basic requirements of being a teacher in the USA.
C. The differences between teaching career and others.
D. The importance of teachers in the education system.
Question 35. The word vital in paragraph 2 is closest in meaningto
A. very interesting B. very important C. totally useless D. extremely easy
Question 36. According to the passage, future post graduates should start working as teachers
A. when they're studying for their master's degree
B. after they have gained their master's degree
C. before studying for their bachelor's degree
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D. before studying for their master's degree
Question 37. According to the passage, teaching requires a combination of many things EXCEPT

A. appearance B. experience C. qualifications D. personal qualities
Question 38. The word themselves in paragraph 4 refers to
A. motivated students  B. qualifications C. careers D. teaching candidates

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions from 39 to 45.

Basic to any understanding of Canada in the 20 years after the Second World War is the country's impressive
population growth. For every three Canadians in 1945, there were over five in 1966. In September 1966
Canada's population passed the 20 million mark. Most of this surging growth came from natural increase. The
depression of the 1930s and the war had held back marriages, and the catching-up process began after 1945.
The baby boom continued through the decade of the 1950s, producing a population increase of nearly fifteen
percent in the five years from 1951 to 1956. This rate of increase had been exceeded only once before in
Canada's history, in the decade before 1911, when the prairies were being settled. Undoubtedly, the good
economic conditions of the 1950s supported a growth in the population, but the expansion also derived from
a trend toward earlier marriages and an increase in the average size of families. In 1957 the Canadian birth
rate stood at 28 per thousand, one of the highest in the world.
After the peak year of 1957, the birth rate in Canada began to decline. It continued falling until in 1966 it stood
at the lowest level in 25 years. Partly this decline reflected the low level of births during the depression and the
war, but it was also caused by changes in Canadian society. Young people were staying at school longer, more
women were working; young married couples were buying automobiles or houses before starting families;
rising living standards were cutting down the size of families. It appeared that Canada was once more falling
in step with the trend toward smaller families that had occurred all through the Western world since the time
of the Industrial Revolution.
Although the growth in Canada's population had slowed down by 1966 (the increase in the first half of the
1960s was only nine percent), another large population wave was coming over the horizon. It would be
composed of the children of the children who were born during the period of the high birth rate prior to 1957.
Question 39. What does the passage mainly discuss?

A. Canada during the Second World War

B. Standards of living in Canada

C. Educational changes in Canadian society

D. Population trends in postwar Canada

Question 40. The author suggests that in Canada during the 1950's _ ?

A. the urban population decreased rapidly B. the birth rate was very high

C. economic conditions were poor D. fewer people married
Question 41. The word trend in paragraph 1 is closest in meaningto

A. tendency B. aim C. growth D. directive
Question 42. The word peak in paragraph 2 is closest in meaningto

A. maximum B. dismal C. mountain D. pointed

Question 43. The author mentions all of the followings as causes of declines in population growth after
1957 EXCEPT :

A. couples buying houses B. better standards of living

C. people getting married earlier D. people being better educated
Question 44. It can be inferred from the passage that before the Industrial Revolution __

A. population statistics were unreliable B. the population grew steadily

C. families were larger D. economic conditions were bad

Trang 4



¥ 'scHooL

Question 45. The word It in paragraph 3 refers to :
A. horizon B. population wave C. nine percent D. first half

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of
sentences in the following questions.

Question 46. Vietnamese footballers played well. They set a new record with a draw against Japan.
A. If Vietnamese footballers hadn't played well, they would set a new record with a draw against Japan.

B. If Vietnamese footballers hadn't played well, they wouldn't have set a new record with a draw against
Japan.

C. If only Vietnamese footballers had played well, they would have set a new record with a draw against
Japan.

D. If Vietnamese footballers didn't play well, they wouldn't set a new record with a draw against Japan.

Question 47. Russia and Ukraine haven't reached an agreement in negotiations. That's why there won't be a
ceasefire soon.

A. Only when there will be a ceasefire soon have Russia and Ukraine reached an agreement in negotiations.
B. Only after have Russia and Ukraine reached an agreement in negotiations there will be a ceasefire soon

C. Only when Russia and Ukraine have reached an agreement in negotiations will there be a ceasefire soon.
D. Only when Russia and Ukraine have reached an agreement in negotiations there will be a ceasefire soon.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each
of the following questions.

Question 48. "We will not establish a no-fly zone to avoid the third World War.” President Joe Biden said.
A. President Joe Biden told they wouldn't establish a no-fly zone to avoid the third World War.
B. President Joe Biden said they wouldn't establish a no-fly zone to avoid the third World War.
C. President Joe Biden said they will not establish a no-fly zone to avoid the third World War.
D. President Joe Biden said they wouldn't establish a no-fly zone to cause the third World War.

Question 49. | am sure she has a good ear for languages.

A. She must have a good ear for languages. B. She may have a good ear for languages.

C. She by no means has a good ear for languages. D. She can't have a good ear for languages.
Question 50. We last saw each other 20 years ago.

A. | haven't seen each other since 20 years.

B. 20 years has passed since we have seen each other.

C. The last time we saw each other is 20 years ago.

D. It is 20 years since we last saw each other.

HUONG DAN GIAI CHI TIET

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the
following exchanges.

Question 1. Minh and Hoa are talking about Hoa's new hairstyle.
- Minh: "What a terrific hairstyle you have, Hoa."

- Hoa: «

A. You're telling a lie B. I don't like your sayings

C. Thank you for your compliment D. Thank you very much. I'm afraid
Gidi thich:

A. Ban dang néi doi
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B. Minh khong thich cau noi cua ban

C. Cam on loi khen cua ban

D. Cdm on rdt nhiéu. Minh rdt lo

Tam dich: Minh va Hoa dang néi chuyén vé kiéu téc méi ciia Hoa.

1

- Minh: “Kiéu téc ciia ban thdt tuyét voi, Hoa a.’
- Hoa: “Cam on loi khen cua ban.”

— Chon dap an C

Question 2. Lan is talking to Nam about her returning from the U.S.

- Lan: "Can you please pick me up at the airport next Sunday?”’

- Nam: « . What time are you arriving?”
A. You're welcome B. Certainly C. Congratulations D. Same to youa
Gidi thich:

A. Ban dung khach sao

B. Chdc chan roi

C. Chuc murng

D. Ban ciing vdy nhé

Tam dich: Lan dang néi chuyén véi Nam vé viée quay tré vé tir My ciia minh.
- Lan: “Ban ¢6 thé dén minh & sén bay vao chu nhat téi dwoc khong?”

- Nam: “Chdc chdn réi. Mdy gio ban sé dén?”

— Chon dap an B

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in
each of the following questions.

Question 3. High-speed connections should be available for anyone who can afford it.
A it B. for C. be D. High-speed

Gidi thich:

Chui ngit la danh tir s6 nhiéu (connections) — ding dai tiv “them”

Sira: it — them

Tam dich: Két noi toc do cao nén cé san cho bdt ky ai c6 di diéu kién chi tra.

— Chon dap an A

Question 4. Many people believe that the costs of the Internet will outweigh the benefactors.
A. believe B. will outweigh C. the costs D. benefactors

Gidi thich:

Kién thive tiv vng:

- benefactor (n): nha hao tam

- benefit (n): loi ich

Stra: benefactors — benefits

Tam djch: Nhiéu nguoi cho rang chi phi Internet sé 16m hon loi ich ma né mang lai.
— Chon dap an D
Question 5. He strongly demanded that every employee wore uniform to the meeting.

A. strongly B. wore C.to D. every
Gidi thich:
Cau gia dinh:
demand that somebody (should) do something: yéu cau ai lam gi
Swra: wore — wear
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Tam dich: Anh dy quyét liét yéu cau rang moi nhdn vién phai mdc dong phuc dén buéi hop.
— Chon dap an B

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in
the position of stress in each of the following questions.

Question 6.A. achievement B. intention C. wonderful D. experience
Gidi thich:

A. achievement /2 'tfi:v.mant/ (n): thanh tuu

B. intention /in 'ten.fon/ (n): y dinh

C. wonderful / 'wan.da.fol/ (adj): ky diéu

D. experience /ik 'spia.ri.ans/ (n): kinh nghi¢m

Pdp dn C ¢é trong dm roi vdo dm tiét thir nhat, cdc ddp dn con lai trong dm roi vao dm tiét thir 2.
— Chon dap an C

Question 7. A. mobile B. modern C. equal D. between

Gidi thich:

A. mobile /'mav.bail/ (adj): di dong

B. modern /'mvd.an/ (adj): hién dai

C. equal /'i:.kwal/ (adj): cong bang, binh dang

D. between /br ‘twi.n/ (prep): gitta

Dadp dan D co trong dm roi vao am tiét thir 2, cac dap an con lai trong am roi vao dm tiét thir nhat.
— Chon dap an D

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from
the other three in pronunciation in each of the following questions.

Question 8. A. moved B. coughed C. asked D. stepped
Gidi thich:

A. moved /mu:vd/: di chuyén

B. coughed /kvftl: ho

C. asked /a:skt/: hoi

D. stepped /stept/: budc

Dap an A co am “ed” phat am la /d/, cdac dap an con lgi phat am la /t/.

— Chon dap an A

Question 9. A. drought B. fought C. ought D. bought
Gidi thich:

A. drought /draot/ (n): han han

B. fought /fa:t/ (V-pp): chién dau

C. ought /a:t/ (v): phdi, nén

D. bought /ba:t/ (V-pp): mua

Dap an A co am “ou” phat am la /av/, cac dap an con lai phat dm la /5./.

— Chon dap dan A

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following
questions.

Question 10. If we don't take steps to protect the world's wildlife, many species of animals are likely to
completely.
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A. die from B. die away C. die down D. die out
Gidi thich:
Kién thive cum déng tie:
- die from something: chét béi gi
- die away: nhé dan
- die down: lang xuéng, diu xuong
- die out: bién mdt hoan toan
Tam dijch: Néu chiing ta khéng ting budc bdo vé dong vit hoang da trén thé gidi, nhiéu lodi sé c6 khd ndng
bien mat hoan toan.
— Chon dap an D

Question 11. Jean said she liked dancing but was not in the for it then.
A. frame B. mood C. opinion D. manner
Gidi thich:

Ciu tric:

be in the frame for something: tham gia cai gi

be in the mood for something: cam thdy muén lam gi

Tam dich: Jean dd néi rang co thich nhay nhung vao liic d6 ¢é lai khéng himg thii lam.
— Chon dap an B

Question 12. _ some soft skills training courses, John started to seek for a job in the capital.
A. Having attended B. Having been attended
C. Have been attended D. Have attended

Gidi thich:

Rt gon ménh dé trang ngiv:

Néu ménh dé trang ngit ¢é cing chit ngit véi ménh dé chinh, va hanh dong & ménh dé trang ngir xdy ra trudc
hanh dong trong ménh dé chinh thi rut gon bang cach luwoc bo chu twr, chuyén dong twr sang dang ‘having +
PP’

Cdu goc: After John had attended some soft skills training courses, John started to seek for a job in the capital.
Tam dich: Sau khi da tham gia mét s6 khéa dao tao kyj nang mém, John da bdt dau tim mét cong viéc o thi
do.

— Chon dap an A

Question 13. John phoned to inform me about the result when I an English lecture.
A. am having B. have had C. was having D. have

Gidi thich:

Hoa hop thi:

OKD+ when + QKTD hodc OKTD + when + OKD: dién ta hanh dong dang xdy ra thi ¢é hanh déng khdc xen
Vao.

Tam dich: John dd goi dé bdo cho t6i vé két qud khi téi dang 1én 16p mén Tiéng Anh.

— Chon dap an C

Question 14. Two of the __ in this company were sacked last week because they were always going to
work late.

A. employees B. employers C. applications D. applicants
Gidi thich:

Kién thikc tiv ving:
- employee (n): nhan vién
- employer (n): nguoi swr dung lao dong, ong chu
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- application (n): don xin viéc

- applicant (n): wng vién

Tam dich: Hai trong s6 cdc nhdn vién cia cong ty nay da bi sa thai vao tuan truée vi ho luén di lam muén.
— Chon dap dan A

Question 15. The road to our village last year.
A. widens B. was widening C. was widened D. has widened
Gidi thich:

Cau bi dong (Passive voice):

Cdu mang nghia bi dong o thi QKD

Cong thirc: was/were + V3/V-ed

Tam dich: Con dwong vao lang toi da dwoc mo rong vao nam ngodi.
— Chon dap an C

Question 16. John and his friends play soccer __ the schoolyard every afternoon.
A. of B. to C. from D.in

Gidi thich:

Gioi tu:

Triede danh tir chi dia diém cu thé, cé tinh bao qudt — ding gidi tir “in”’
Tam dich: John cing ban choi béng da & sin triwong vao moi buéi chiéu.
— Chon dap an D

Question 17. The music is believed to the composer's joy of life.
A. appeal B. attract C. express D. arouse
Gidi thich:

Kién thikc tiv vng:

- appeal (v): thu hat

- attract (v): hdp dan

- express (v): thé hién, bay t6

- arouse (v): khoi goi

Tam dich: Am nhac dwoc cho la thé hién niém vui vé cudc Séng cua nguoi nhac si.
— Chon dap an C

Question 18. Some people often at least four hours a day watching TV.
A. use B. last C. take D. spend
Gidi thich:

Ciu tric:

spend time doing something: danh thoi gian lam gi

Tam dich: Mét s6 nguwoi thwong danh it nhdt 4 gio mét ngay dé xem TV.
— Chon dap an D

Question 19. The kids go to school on foot, ?
A. don't they B. are they C. aren't they D. do they
Gidi thich:

Cdu hoi duoi (Tag questions):
Ménh dé chinh khang dinh — cdu héi dudi phii dinh
Ménh dé chinh ding déng tir thiwong 6 HTP va chii ngiv “the kids” — cdu héi dudi ding TDT “do” va dai tir
“they”
==> Cdu hoi duoi dung “don’t they”
Tam dich: Bon tré di bg dén truong, cé diing khong?
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Question 20. Tom came across a very girl while he was going downtown yesterday.
A. attract B. attractively C. attraction D. attractive
Gidi thich:

Kién thire tiv vng:

- attract (v): hdp dan

- attractively (adv): mét cach hap dan

- attraction (n): sy thu hut

- attractive (adj): hdp dan, thu hit

Ché tréng diing truée danh tir — can tinh tir

Tam dich: Tom dd bdt gdp mét c6 gdi rat thu hit trong khi anh dy dang di ¢ trung tam thanh phé vao hém
qua.

— Chon ddap an D

Question 21. Traffic was moving slowly on the road an accident in the High Street.
A. because B. despite C. although D. because of
Gidi thich:

Lién tu/Trang tur:

because + clause: vi

despite + N/V-ing: mdc du

although + clause: mac du

because of + N/V-ing: vi

Cho trong ding trude 1 cum danh tie + da theo nghia — chon D

Tam dich: Xe c¢é da di chuyén mét cach chdm chap trén dwong do vu tai nan & dwong cao toc.
— Chon dap an D

Question 22. | the football match had started for 15 minutes.
A. After John gets to the station B. While John is getting to the station
C. Before John had got to the station D. When John got to the station

Gidi thich:

Hoa hop thi:

Ta thcfy ménh dé chinh dang chia o thi QKHT — Loai cac dap dn chia hién tai.
Loai B vi Before QKD, QKHT

Ta cd: When QKD, QKHT

Tam dich: Khi John dén nha ga, thi trdn dau béng dd da bdt dau dwoc 15 phiit roi.
— Chon dap an D

Question 23. Jenny wore a ____ dress to the farewell party last night.
A. beautiful silk white B. silk beautiful white
C. white silk beautiful D. beautiful white silk
Gidi thich:

Trit tw tinh tie:
OSASCOMP: Opinion - Size - Age - Shape - Color - Origin — Material — Purpose
opinion — beautiful
color — white
material — silk
Tam dich: Jenny di mdc mét chiéc dam lua mau trdng rdt dep dén budi tiéc chia tay t6i qua.
— Chon dap an D
Trang 10
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Question 24. The more waste people discharge into the ocean, it becomes.
A. more polluted B. the most polluted C. the more polluted D. most polluted
Gidi thich:

Ciu triic so sdnh kép:

The + so sanh hon + S + V, the + so sanh hon + S + V: cang...cang

Tam dich: Moi nguoi thai xuéng dai dwong cang nhiéu chdt thai, thi né tré nén cang é nhiém hon.

— Chon dap an C

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the

underlined word(s) in each of the following questions.

Question 25. If any employee knowingly breaks the terms of this contract, he will be dismissed immediately.
A. coincidentally B. deliberately C. accidentally D. instinctively

Gidi thich:

A. coincidentally (adv): mot cach tinh co

B. deliberately (adv): mét cach cé tinh

C. accidentally (adv): mot cach vo tinh

D. instinctively (adv): theo ban nang

knowingly (adv): c6 ¥ >< accidentally

Tam dich: Néu bat ky nhdn vién nao cé tinh vi pham diéu khodan hop dong nay, ngiweoi dé sé bi sa thai ngay ldp

tirc.

— Chon dap an C

Question 26. You should pat yourself on the back for having achieved such a high score in the graduation

exam.
A. praise yourself B. check up your back  C. criticize yourself D. wear a backpack

Gidi thich:

A. khen ngoi ban than

B. kiém tra lung

C. chi trich ban thdn

D. mang ba 16

pat yourself on the back: khen ngoi ban than >< criticize yourself

Tam dich: Ban nén tu khen ngoi ban than vi da dat dwoc mot 6 diém cao nhu thé trong ky thi 1ot nghiép.

— Chon dap an C

Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to the
underlined word in each of the following questions.

Question 27. After many years of unsuccessfully endeavoring to form his own orchestra, Glenn Miller finally
achieved world fame in 1939 as a big band leader.

A. trying B. offering C. deciding D. requesting
Gidi thich:
A. cé ging
B. dé nghi
C. quyét dinh
D. yéu cau
endeavor (v): né luc = try
Tam dich: Sau nhiéu nam thdt bai trong né lec thanh ldp dan nhac riéng, Glenn Miller cudi cing dd vang
danh the gioi vao nam 1939 voi vai tro nhom truong cua mot ban nhac lon.
— Chon dap dn A
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Question 28. When posed with a complicated mathematical equation, some students seek the assistance of a
teacher.

A. spaced
Gidi thich:
A. dat cach nhau
B. dat ra
C. gidi quyét
D. thdng béo
pose (v): dat ra (van dé) = present

B. presented C. solved D. informed

Tam dich: Khi doi mdt véi mot phieong trinh todn hoc phie tap, mét sé hoc sinh tim kiém sw tro givip tir gido
vién.
— Chon dap an B

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word or phrase that best fits each of the numbered blanks from 29 to 33.

All living things require energy to do the work necessary for survival and reproduction. But (29) is
energy? Energy is simply the ability to do work, where work is done when a force moves an object. Let's
consider your own needs for a moment. You need energy to turn on and turn off your computer. You need
energy to (30) of bed in the morning. And, yes, you need energy to reproduce. So where does energy
come from and how do we use it? On Earth, energy ultimately comes from the sun. Plants use the sun's energy
to make sugar. Organisms, in turn, use sugar as a (31) of energy to do work. Plants use energy from
sunlight to make sugar and oxygen from carbon dioxide and water. The process by which carbon dioxide and
water are (32) to sugar and oxygen using sunlight is referred to as photosynthesis. This is an endergonic
reaction, meaning enerov is required by the reaction. Specifically, energy is required to put the carbon dioxide

and the water molecules together to form sugar. Sun (33)

the energy needed to drive photosynthesis,

and some of the energy used to make the sugar is stored in the sugar molecule.

Gidi thich:

TAM DICH:

All living things require energy to do the work
necessary for survival and reproduction. But what is
energy? Energy is simply the ability to do work,
where work is done when a force moves an object.
Let's consider your own needs for a moment. You
need energy to turn on and turn off your computer.
You need energy to get out of bed in the morning.
And, yes, you need energy to reproduce. So where
does energy come from and how do we use it? On
Earth, energy ultimately comes from the sun. Plants
use the sun's energy to make sugar. Organisms, in
turn, use sugar as a source of energy to do work.
Plants use energy from sunlight to make sugar and
oxygen from carbon dioxide and water. The process
by which carbon dioxide and water are converted to
sugar and oxygen using sunlight is referred to as
photosynthesis. This is an endergonic reaction,
meaning enerov is required by the reaction.
Specifically, energy is required to put the carbon
dioxide and the water molecules together to form
sugar. Sun provides the energy needed to drive
photosynthesis, and some of the energy used to make

Tat ca cdc sinh vit déu can nang lrong d@é lam cac
cong viéc can thiét dé sinh ton va sinh san. Nhung
nang luwong la gi? Nang lwong don gian la kha nang
lam viéc, khi ma cong viéc dwoc thuc hién boi luc di
chuyén mot vt thé. Ban can nang luong dé bt va tat
mdy tinh ciia minh. Ban can nang lwong dé roi
giwong vao budi sang. Va, ding vdy, ban cdn ndng
lwong dé sinh san. Vdy ndng lwong dén tir dau va
chiing ta sit dung né nhuw thé nao? Trén Trdi Pat,
nang lwong dén tir mdt troi. Thuwe vit sir dung ndng
lieong mdt troi dé tao ra dwong. Noi cach khac, cac
sinh vdt ding dwong nhw mot nguon nang lwong dé
van dong. Thuc vat sw dung nang lwong tir anh sang
mdt troi dé tao dwong va oxi tir khi cacbonic va nude.
Qud trinh ma khi cacbonic va nuée chuyén héa thanh
dwong va khi oxi bang cdch sir dung dnh ndng mdt
troi dwoc goi la qua trinh quang hop. Pdy la mot
phan iing thu nhiét, nghia la phdn ieng doi héi can cé
nang lwong. Cu thé la, can phdi ¢é ning luong dé két
hop khi cacbonic va cac phdn tir nude de tao thanh
dwong. Mt troi cung cdp ndng heong can thiét dé
thiic ddy qud trinh quang hop, va mét phan ndng
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the sugar is stored in the sugar molecule. lirong dige dimg dé tao ra dwong dwoc lwu trit trong
phan tu duong.

Question 29. A. what B. why C. that D. which

Gidi thich:

A. what: céi gi

B. why: tai sao

C. that: cai ma, nguoi ma

D. which: cai ma

Tam dich:

But what is energy? (Nhung nang luong la gi?)

— Chon ddp dan A

Question 30. A. get up B. wake up C. wake out D. get out
Gidi thich:

A. get up: thurc day

B. wake up: tinh ddy (sau khi ngu)

C. wake out: khong co nghia

D. get out of something: roi khoi dau

Tam dich:

You need energy to get out of bed in the morning. (Ban can ndang lwong dé roi givong vao budi sing.)
— Chon dap an D

Question 31. A. format  B. source C. degree D. scale
Gidi thich:

A. format (n): hinh thirc

B. source (n): nguon — a source of something: nguon gi

C. degree (n): murc do

D. scale (n): ti I¢

Tam dich:

Organisms, in turn, use sugar as a source of energy to do work. (Noi cach khac, cdc sinh vdt dung duwong nhuw
mot nguon nang lwong dé van dong.)

— Chon dap an B

Question 32. A. exchanged B. removed C. converted D. purchased
Gidi thich:

Kién thirc tiv ving:

- exchange (v): trao doi

- remove (v): loai bo

- convert (v): chuyén doi — convert something to/into something: chuyén cdi gi thanh cai gi
- purchase (v): mua

Tam dich: The process by which carbon dioxide and water are converted to sugar and oxygen using sunlight
is referred to as photosynthesis.

(Qud trinh ma khi cacbonic va nieée chuyén héa thanh dweong va khi oxi bang cdch sir dung dnh ndng mdt troi
dwoc goi la qua trinh quang hop.)
— Chon dap an C
Question 33. A. transfers  B. provides C. consumes D. absorbs
Gidi thich:
Kién thikc tiv ving:
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- transfer (v): chuyén

- provide (v): cung cdp

- consume (v): tiéu thu

- absorb (v): hdp thu

Tam dich: Sun provides the energy needed to drive photosynthesis, and some of the energy used to make the
sugar is stored in the sugar molecule.

(Mat troi cung cdp nang leong can thiét dé thiic ddy qud trinh quang hop, va mét phan ning leong dwoe ding
dée tao ra dwong dwoc luu triv trong phan tw duwong.)

— Chon ddp dan B

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions from 34 to 38.

Becoming a teacher demands not only knowledge in an academic field but also a personal commitment to
lifelong learning, and enthusiasm for sharing knowledge with other people. To become one of those noble
educators in the USA, one has to satisfy several basic requirements.

First and foremost, it is a prerequisite to have bachelor's degree in education. In the event that a candidate
already has a bachelor's degree in another field, a teacher preparation program is needed. But that is not all.
Almost every school in the USA understands that real classroom teaching experience is a vital part of a
teacher's training. Before taking over a class, a person typically needs to complete a training program, including
working as a supervised student teacher.

People who want to become university teachers need master's degrees. Getting a master's degree is a necessity,
but if it is gained too early, there may be concerns that the candidate lacks the real-world experience to go with
it. One wise solution to the issue is for future post graduates to start working as teachers before going on to
gain their master's degree.

Besides knowledge and experience, certain personal qualities are also required. A teacher should be positive,
prepared, focused, and most importantly, patient. Being a teacher involves being aware of the fact that learning
sometimes means hard work, even for the most motivated students. Also, teaching can at times be tiring and
frustrating, so teaching candidates have to practice being patient with themselves. In short, as in other careers,
teaching requires a combination of qualifications, experience, and personal qualities. Teaching candidates
meeting mandatory requirements are always in demand in the USA.

Gidi thich:
TAM DICH:

Becoming a teacher demands not only knowledge in
an academic field but also a personal commitment to
lifelong learning, and enthusiasm for sharing
knowledge with other people. To become one of those
noble educators in the USA, one has to satisfy several
basic requirements.

First and foremost, it is a prerequisite to have
bachelor's degree in education. In the event that a
candidate already has a bachelor's degree in another
field, a teacher preparation program is needed. But
that is not all. Almost every school in the USA
understands that real classroom teaching experience
is a vital part of a teacher's training. Before taking
over a class, a person typically needs to complete a
training program, including working as a supervised
student teacher.

People who want to become university teachers need

Viéc tré thanh mét gido vién khong chi doi hoi kién
thire vé linh v hoc thudt ma con cd su cam két cd
nhan voi viéc hoc tap suot doi, va su nhiét tinh chia
sé kién thirc cho nhitng nguoi khdc. Pé tro thanh mot
trong nhitng nha gido cao quy ¢ Hoa Ky, mot nguoi
phai dap vng nhiéu yéu cau co ban.

Dau tién va quan trong nhdt, diéu kién tién quyét la
phdi c6 bang cir nhan gido duc. Trong truong hop
vkng vién da cé bang cir nhan & linh viee khde, ho cdn
tham gia chwong trinh di bi gido vién. Nhung diéu
d6 chua la tat ca. Hau hét moi truong & My déu hiéu
rang kinh nghiém ding 16p that sw la mét phan quan
trong trong viéc dao tao giao vién. Truoc khi dam
nhdn mét op, mot ngwoi thuwong can hoan thanh
chwong trinh ddo tao, bao gom lam gido vién gidm
sdt hoc sinh.

Nhitng ai muon tro thanh giang vién dai hoc can
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master's degrees. Getting a master's degree is a
necessity, but if it is gained too early, there may be
concerns that the candidate lacks the real-world
experience to go with it. One wise solution to the
issue is for future post graduates to start working as
teachers before going on to gain their master's
degree.

Besides knowledge and experience, certain personal
qualities are also required. A teacher should be
positive, prepared, focused, and most importantly,
patient. Being a teacher involves being aware of the
fact that learning sometimes means hard work, even
for the most motivated students. Also, teaching can at
times be tiring and frustrating, so teaching
candidates have to practice being patient with
themselves. In short, as in other careers, teaching
requires a combination of qualifications, experience,
and personal qualities. Teaching candidates meeting
mandatory requirements are always in demand in the
USA.

bang thac st. Viéc co bang thac s7 la diéu kién can,
nhung néu cé bang qud som, moi nguoi sé€ quan ngai
rang img vién dé thiéu di kinh nghiém thuc 1é. Mot
giai phap khon ngoan cho van dé nay danh cho cdc
sinh vién tot nghiép trong tuong lai la hay bdt dau
lam gido vién trude khi tiép tuc ldy bang thac si.

Bén canh kién thirc va kinh nghiém, nguoi ta con yéu
cau mot s6 phdm chdt ca nhan nhat dinh. Gido vién
nén tich cuwc, ¢6 chudn bi, tdp trung, va quan trong
nhat, la kién nhan. Viéc lam gido vién lién quan dén
viéc nhdn thirc vé thuc té rcing hoc tap doi khi co thé
la cong viéc kho khan, tham chi déi véi cac hoc sinh
quyét tam nhat. Viéc giang day doi khi ciing mét moi
va chdn nan, vi thé cdc iing vién phai luyén tap kién
nhdn véi ban thdn. Néi ngan gon, nhu cdc nghé
nghiép khdc, giang day doi hoi sw két hop cua trinh
do chuyén mon, kinh nghiém, va ¥ phdm chdt cd nhan.
Ngu"m ta luon c6 nhu cau ve cac ung vién giang day
ddp ieng cdc yéu cau bdt budc ¢ Hoa Ky.

Question 34. What is the passage mainly about?

A. The advantages and disadvantages of being a teacher.
B. The basic requirements of being a teacher in the USA.
C. The differences between teaching career and others.
D. The importance of teachers in the education system.

Gidi thich:
Doan van chi yéu néi vé gi?

A. Loi ich va bat loi cua viéc tro thanh giao vién o My.

B. Cdc yéu cau co ban cua viéc tro thanh gido vién tai My.

C. Su khac biét cua nghé day hoc.
D. Tam quan trong ciia gido vién.

Tom tat: Doan van noi vé cac yéu cau dé tro thanh mot gido vién/giang vién o Hoa Ky.

— Cac yéu cau co ban cua viéc tro thanh giao vién tai My

— Chon dap an B

Question 35. The word vital in paragraph 2 is closest in meaning to

A. very interesting
Gidi thich:
Tir “vital” trong doan 2 dong nghia véi tir
A. rat thi vi
B. rdt quan trong
C. hoan toan vo ich
D. cuc ky dé dang

B. very important

vital (adj): quan trong = very important
— Chon dap an B

C. totally useless

D. extremely easy

Question 36. According to the passage, future post graduates should start working as teachers

A. when they're studying for their master's degree
B. after they have gained their master's degree
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C. before studying for their bachelor's degree
D. before studying for their master's degree
Gidi thich:
Theo doan vin, cdc sinh vién tot nghiép twong lai nén bat dau lam gido vién
A. khi ho dang hoc thac sT
B. sau khi ldy bang thac si
C. trude khi hoc ldy bang cir nhdn
D. truwoc khi hoc thac st

Thong tin: One wise solution to the issue is for future post graduates to start working as teachers before
going on to gain their master's degree.

(Mot giai phap khon ngoan cho vén c?é nay danh cho cdc sinh vién tot nghiép trong twong lai la hdy bdt dau
lam giao vién truodc khi tiep tuc lay bang thac si.)
— Chon ddap an D
Question 37. According to the passage, teaching requires a combination of many things EXCEPT
A. appearance B. experience C. qualifications D. personal qualities
Gidi thich:
Theo doan van, viéc giang day doi hoi sy két hop cua nhiéu thir ngogai tru
A. ngoai hinh
B. kinh nghiem
C. trinh do chuyén mon
D. phdm chdt cd nhan
Théng tin: In short, as in other careers, teaching requires a combination of qualifications, experience,
and personal qualities.
(Noi ngd'n gon, nhu cac nghé nghiép khac, giang day doi hoi st két hop ciia trinh dé chuyén mén, kinh nghiém,
va pham chat ca nhan.)
— Chon dap an A
Question 38. The word themselves in paragraph 4 refersto
A. motivated students  B. qualifications C. careers D. teaching candidates
Gidi thich:
Tir “themselves” trong doan 4 dé cdp dén
A. nhitng hoc sinh co dong lyc
B. trinh do chuyén mon
C. cdc nghé nghiép
D. cac ung vién day hoc
Thong tin: Also, teaching can at times be tiring and frustrating, so teaching candidates have to practise being
patient with themselves.
(Viéc giang day doi khi ciing mét moi va chan nan, vi thé cdc ung vién phai luyén tdp kién nhan véi ban than. )
— Chon dap an D
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions from 39 to 45.

Basic to any understanding of Canada in the 20 years after the Second World War is the country's impressive
population growth. For every three Canadians in 1945, there were over five in 1966. In September 1966
Canada's population passed the 20 million mark. Most of this surging growth came from natural increase. The
depression of the 1930s and the war had held back marriages, and the catching-up process began after 1945.
The baby boom continued through the decade of the 1950s, producing a population increase of nearly fifteen
percent in the five years from 1951 to 1956. This rate of increase had been exceeded only once before in
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Canada's history, in the decade before 1911, when the prairies were being settled. Undoubtedly, the good
economic conditions of the 1950s supported a growth in the population, but the expansion also derived from
a trend toward earlier marriages and an increase in the average size of families. In 1957 the Canadian birth
rate stood at 28 per thousand, one of the highest in the world.

After the peak year of 1957, the birth rate in Canada began to decline. It continued falling until in 1966 it stood
at the lowest level in 25 years. Partly this decline reflected the low level of births during the depression and the
war, but it was also caused by changes in Canadian society. Young people were staying at school longer, more
women were working; young married couples were buying automobiles or houses before starting families;
rising living standards were cutting down the size of families. It appeared that Canada was once more falling
in step with the trend toward smaller families that had occurred all through the Western world since the time
of the Industrial Revolution.

Although the growth in Canada's population had slowed down by 1966 (the increase in the first half of the
1960s was only nine percent), another large population wave was coming over the horizon. It would be
composed of the children of the children who were born during the period of the high birth rate prior to 1957.

Gidi thich:

TAM DICH:

Basic to any understanding of Canada in the 20 years
after the Second World War is the country's
impressive population growth. For every three
Canadians in 1945, there were over five in 1966. In
September 1966 Canada's population passed the 20
million mark. Most of this surging growth came from
natural increase. The depression of the 1930s and the
war had held back marriages, and the catching-up
process began after 1945. The baby boom continued
through the decade of the 1950s, producing a
population increase of nearly fifteen percent in the
five years from 1951 to 1956. This rate of increase
had been exceeded only once before in Canada's
history, in the decade before 1911, when the prairies
were being settled. Undoubtedly, the good economic
conditions of the 1950s supported a growth in the
population, but the expansion also derived from a
trend toward earlier marriages and an increase in
the average size of families. In 1957 the Canadian
birth rate stood at 28 per thousand, one of the highest
in the world.

After the peak year of 1957, the birth rate in Canada
began to decline. It continued falling until in 1966 it
stood at the lowest level in 25 years. Partly this
decline reflected the low level of births during the
depression and the war, but it was also caused by
changes in Canadian society. Young people were
staying at school longer, more women were working;
young married couples were buying automobiles or
houses before starting families; rising living
standards were cutting down the size of families. It
appeared that Canada was once more falling in step
with the trend toward smaller families that had
occurred all through the Western world since the
time of the Industrial Revolution.

S hiéu biét co ban vé Canada trong 20 nam sau The
chién thir hai chinh la su tang truong dan so ' an
tuwong cua nuoc nay. Cu moi 3 nguoi Canada vao
nam 1945, thi co hon 5 nguoi vao nam 1966. Thang
9 nam 1966, dan sé Canada dd vwot moc 20 triéu
ngueoi. Pa phan su phdt trién vieot bdc nay dén tir sw
gia tang tw nhién. Cugc suy thodi o nhitng nam 1930
va chién tranh da kim hdam cdc cudc hon nhan, va
qud trinh héi phuc bdt dau sau nam 1945. Sw bing
né dan so da bdt dau trong suét thdp ky ciia nhiing
nam 1950, khién dan sé tang 1én gan 15% trong vong
5 nam tie nam 1951 dén 1956. Ty 1é gia tang nay chi
da tirng bi vieot mdt mét lan trude ddy trong lich sir
Canada, trong thdp ky trudc nam 1911, khi nguoi ta
dinh cw ¢ cdc dong co. R6 rang la, diéu kién kinh té
thudn loi vao nhitng nam 1950 da thic day tang
triedng ddn s6, nhwng sw gia tang ndy ciing dén tir xu
hieémg két hon sém va sw tang quy mé trung binh ciia
gia dinh. Vao nam 1957 ty I¢ sinh cua Canada la 28
phdn 1000, mét trong nhitng mirc cao nhdt trén thé
gioi.

Sau nam dat dinh 1957, ty I¢é sinh o Canada da bat
dau tut giam. N6 tiép tuc giam cho dén nam 1966 thi
né cham mire thap nhdt trong 25 nam. Mot phan sw
gidm sut nay phan dnh mitc do sinh thdp trong sudt
thoi ky suy thodi va chién tranh, nhing né ciing do
sw thay déi cia xa héi Canada. Nhitng nguoi tré hoc
& trwong lau hon, nhiéu phy nit di lam hon; nhitng
cap doi tre két hén mua xe 6 t6 hodc nha cira trude
khi bat dau ldp gia dinh; mitc song cao hon lam giam
quy mé gia dinh. C6 vé Canada lai mét lan nita roi
vdo xu thé hiedng dén cdc gia dinh nhé hon da xdy ra
trén khdp thé giéi phwong Tay ké tir thoi ky Céch
mang Cong nghiép.
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Although the growth in Canada's population had
slowed down by 1966 (the increase in the first half of
the 1960s was only nine percent), another large
population wave was coming over the horizon. It
would be composed of the children of the children
who were born during the period of the high birth
rate prior to 1957,

Mdc du su tang truong dan s6 cua Canada dd chdm
lai dén nam 1966 (su gia tang trong nira dau ciia
thdp nién 1960 chi la 9%,), mét lan séng dan sé Ion
lai dang sdp xday dén. N6 sé bao gom con cdi ciia
nhiing dvea tré duoc sinh ra trong thoi ky ty lé sinh
cao trudc nam 1957.

Question 39. What does the passage mainly discuss?
A. Canada during the Second World War
B. Standards of living in Canada
C. Educational changes in Canadian society
D. Population trends in postwar Canada
Gidi thich:
Poan vin chii yéu ban ludn vé gi?
A. Canada trong Chién tranh Thé gici Thir hai
B. Mikc séng ¢ Canada
C. Su thay doi vé giao duc o xa hoi Canada
D. Xu hudng din sé6 Canada thoi hdu chién
Thong tin:

Basic to any understanding of Canada in the 20 years after the Second World War is the country's impressive
population growth. (Su hiéu biet co ban ve Canada trong 20 nam sau The chién thir hai chinh la sy tang

truong dan so an tuong cua nuwoc nay.)

— Doagn van noi vé xu huong ddan sé6 Canada sau The chién thir hai

— Chon dap an D

Question 40. The author suggests that in Canada during the 1950's 7

A. the urban population decreased rapidly
C. economic conditions were poor
Gidi thich:

B. the birth rate was very high
D. fewer people married

Tdc gia chi ra rang & Canada trong sudt nhitng nam 1950 thi

A. ddn s6 d6 thi tut giam nhanh chéng
B. ty Ié sinh rdt cao

C. diéu kién kinh té rat t¢

D. it nguwoi két hon hon

Théng tin: The baby boom continued through the decade of the 1950s, producing a population increase of
nearly fifteen percent in the five years from 1951 to 1956.

Su biing né em bé da bat dau trong suot thdp ky ciia nhitng nam 1950, khién dan sé tang lén gan 15% tron
(. g g p g g lén g g

vong 5 nam tir nam 1951 dén 1956.)
— Chon dap dan B

Question 41. The word trend in paragraph 1 is closest in meaning to

A. tendency B. aim

Gidi thich:

Tir “trend” trong doan 1 dong nghia véi tir
A. tendency (n): xu huong

B. aim (n): muc tiéu

C. growth (n): sy tang truong

D. directive (n): chi thi

C. growth

D. directive

Trang 18



¥ 'scHooL

trend (n): xu huéng, xu thé = tendency
— Chon dap dan A
Question 42. The word peak in paragraph 2 is closest in meaningto
A. maximum B. dismal C. mountain D. pointed
Gidi thich:
Tir “peak” trong doan 2 dong nghia véi tir
A. maximum (adj): t6i da
B. dismal (adj): am dam
C. mountain (n): nui
D. pointed (adj): nhon
peak (adj): dinh diém = maximum
— Chon dap dan A
Question 43. The author mentions all of the followings as causes of declines in population growth after
1957 EXCEPT

A. couples buying houses B. better standards of living
C. people getting married earlier D. people being better educated
Gidi thich:

Tdc gid nhdc dén tdt ca nhitng diéu sau nhw la nguyén nhan gdy gidam tang truedng dan sé sau nam 1957 ngoai
trie

A. cac cap doi mua nha

B. mitc song tot hon

C. moi nguoi két hén sém hon

D. moi nguoi dwoc gido duc tot hon

Théng tin: Partly this decline reflected the low level of births during the depression and the war, but it was
also caused by changes in Canadian society. Young people were staying at school longer, more women were
working; young married couples were buying automobiles or houses before starting families; rising living
standards were cutting down the size of families. (Mot phdn sy giam sut ndy phan dnh mirc do sinh thap trong
suot thoi ky suy thodi va chién tranh, nhung né ciing do sw thay doi cia xa héi Canada. Nhitng nguoi tré hoc
o truong lau hon, nhiéu phu nit di lam hon; nhitng cap doi tré két hén mua xe 6 t6 hodc nha cira triede khi bat
dau ldp gia dinh; mirc song cao hon lam giam quy mé gia dinh.)

— Chon dap an C

Question 44. It can be inferred from the passage that before the Industrial Revolution

A. population statistics were unreliable B. the population grew steadily
C. families were larger D. economic conditions were bad
Gidi thich:

Co thé suy ra tir doan van rang truée cuéc Cach mang Cong nghiép thi

A. thong ké dan so khong déng tin cdy

B. ddn s6 tang trieong déu dan

C. gia dinh lon hon

D. diéu kién kinh té toi t¢

Thoéng tin: It appeared that Canada was once more falling in step withthe trend toward smaller families that
had occurred all through the Western world since the time of the Industrial Revolution.

(Co vé Canada lai mot lan nita roi vao xu thé huéng dén cac gia dinh nhé hon da xdy ra trén khdp thé giGi
phuwong Tay ké tur thoi ky Cach mang Cong nghiép.)

— Chon dap an C

Question 45. The word It in paragraph 3 refersto
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A. horizon B. population wave C. nine percent D. first half
Gidi thich:
Tir “It” trong doan 3 dé cdp dén
A. duwong chan troi
B. lan séng dén sé
C. 9%
D. nita dau
Thdng tin: Although the growth in Canada's population had slowed down by 1966 (the increase in the first
half of the 1960s was only nine percent), another large population wave was coming over the horizon. It would

be composed of the children of the children who were born during the period of the high birth rate prior to
1957.

(Mdc dir s tang trucng déan sé cia Canada da cham lai dén nam 1966 (su gia tang trong nia ddu ciia thdp
nién 1960 chi la 9%), mét lan séng dén sé 16m lai dang sdp xdy dén. N6 sé bao gom con cdi ciia nhitng dia tré
dwoc sinh ra trong thoi ky ty I¢é sinh cao truéc nam 1957.)

— Chon dap an B

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of
sentences in the following questions.

Question 46. Vietnamese footballers played well. They set a new record with a draw against Japan.
A. If Vietnamese footballers hadn't played well, they would set a new record with a draw against Japan.

B. If Vietnamese footballers hadn't played well, they wouldn't have set a new record with a draw against
Japan.

C. If only Vietnamese footballers had played well, they would have set a new record with a draw against
Japan.

D. If Vietnamese footballers didn't play well, they wouldn't set a new record with a draw against Japan.
Gidi thich:
Cdc cau thi Viét Nam choi rat tot. Ho da ldp ky luc moi voi tran hoa trudc Nhat Ban.
A. Diing sai cdu diéu kién, phdi ding cdu diéu kién loai 3.
B. Néu cdc cau thii Viét Nam da khéng choi tét, thi ho da khéng 1dp ky luc méi véi trdn hoa truée Nhdt Ban.
C. Gid ma cdc cau thu Viét Nam da choi tot, thi ho da ldp ky luc moi voi tran hoa truoc Nhdt Ban.
D. Diing sai cdu diéu kién, phdi ding cdu diéu kién loai 3.
— Chon dap an B
Question 47. Russia and Ukraine haven't reached an agreement in negotiations. That's why there won't be a
ceasefire soon.
A. Only when there will be a ceasefire soon have Russia and Ukraine reached an agreement in negotiations.
B. Only after have Russia and Ukraine reached an agreement in negotiations there will be a ceasefire soon
C. Only when Russia and Ukraine have reached an agreement in negotiations will there be a ceasefire soon.
D. Only when Russia and Ukraine have reached an agreement in negotiations there will be a ceasefire soon.
Gidi thich:
Nga va Ukraine da khong dat dwoc thoa thudn trong cac cuge dam phan. Do la ly do tai sao sé khong co lénh
ngung ban som.
A. Sai ngir phap
B. Sai ngit phap
C. Chi khi Nga va Ukraine dat dwoc théa thudn trong cdc cudc dam phdn thi sé sém cé lénh ngieng bdn.
D. Sai ngir phap
Céu triic dio ngit:Only when + S + V + tro dong tic + S + V: chi khi...thi
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— Chon dap an C

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each
of the following questions.
Question 48. "We will not establish a no-fly zone to avoid the third World War.” President Joe Biden said.
A. President Joe Biden told they wouldn't establish a no-fly zone to avoid the third World War.
B. President Joe Biden said they wouldn't establish a no-fly zone to avoid the third World War.
C. President Joe Biden said they will not establish a no-fly zone to avoid the third World War.
D. President Joe Biden said they wouldn't establish a no-fly zone to cause the third World War.
Gidi thich:
“Chiing ta sé khéng thiét lip mét ving cam bay qudn sw dé tranh Chién tranh Thé gici thir ba.”, Tong thong
Joe Biden da néi.
A. Sai ngir phap
B. Tong thong Joe Biden dd néi ho sé khéng thiét ldp viing cam bay qudn si dé tranh Chién tranh Thé gidi thir
ba.
C. Sai ngir phap
D. Tong thong Joe Biden da noi ho sé khéng thiét lip vimg cam bay quén sy dé gay ra Chién tranh Thé gidi
thir ba.
Céu gidn tiép:
Péng tir twong thudt o thi qud khir (said), ménh dé dwoc twong thudt phdi i thi: will not establish — would
not establish
— Chon dap an B
Question 49. | am sure she has a good ear for languages.
A. She must have a good ear for languages.
B. She may have a good ear for languages.
C. She by no means has a good ear for languages.
D. She can't have a good ear for languages.
Gidi thich:
Téi chdc rang c6 dy rat giéi nghe ngon ngir.
A. C6 dy han la rat giéi nghe ngén ngi.
B. C6 dy c6 [é rdt gici nghe ngén ngi.
C. C6 dy khéng hé gici nghe ngén ngit.
D. C6 dy khéng thé gici nghe ngén ngit.
— Chon dap an A
Question 50. We last saw each other 20 years ago.
A. | haven't seen each other since 20 years.
B. 20 years has passed since we have seen each other.
C. The last time we saw each other is 20 years ago.
D. Itis 20 years since we last saw each other.
Gidi thich:
Chiing t6i dd gdp nhau lan cudi vao 20 nam trude.
A. Sai ngir phap
B. Sai ngir phap
C. Sai ngir phap
D. Pd 20 nam ké tir lan cudi ching t6i gdp nhau.
Ciu triic:
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S + last + V2/V-ed + (time) ago = It is (time) + since + S + last + V2/V-ed
— Chon dap an D
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